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class Course

{

private string name;
private int grade;
private int numOfPoints = 3;
public Course (string name,
{
this.name = name;
this.grade = grade;
this.numOfPoints =
}
public Course(string name,
{
this.name =
this.grade =

name;
grade;
}

public string GetName ()
{

return this.name;

}
public int

{

GetGrade ()

return this.grade;
}
public int

{

GetNumOfPoints ()
return this.numOfPoints;

;ublic void SetGrade (int grade)
{ this.grade = grade;

}

int grade,

numOfPoints;

int numOfPoints)

int grade)

public void SetNumOfPoints (int numOfPoints)

{
this.numOfPoints = numOfPoints;

}

public override string ToString()

return this.name + " " + this.grade
this.numOfPoints + " points";

+ "oy
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static void Main(string[] args)
{
Course cl = new Course("Math",77,5);
Course c2 = new Course ("English",90);

Course c3 ;

c2.SetGrade (cl.GetGrade()) ;

cl.SetGrade (95) ;
c3 = cl;

c3.SetNumOfPoints (3) ;

cl.SetGrade (80) ;

Console.WriteLine (cl);
Console.WriteLine (c2);
Console.WritelLine (c3);
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Diploma()
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void AddCourse(Course x)
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double GetAverage()
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String ToString()
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<name>:<grade> <numOfPoints>

<name>:<grade> <numOfPoints>

Total Average: <average>
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